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Subject: Physics (Booklet Number)

Duration: 90 minutes Full Marks: 100

Instructions

1. All questions are of objective type having four answer options for each. Only one option is
correct. Correct answer will carry full marks 2. In case of incorrect answer or any combination
of more than one answer, 2 marks will be deducted.

2. Questions must be answered on OMR sheet by darkening the appropriate bubble marked A, B,
C, orD.

3. Use only Black/Blue ball point pen to mark the answer by complete filling up of the respective
bubbles.

4. Do not make any stray mark on the OMR.

5. Write question booklet number and your roll number carefully in the specified locations of the
OMR. Also fill appropriate bubbles.

6. Write your name (in block letter), name of the examination centre and put your full signature in
appropriate boxes in the OMR.

7. The OMRs will be processed by electronic means. Hence it is liable to become invalid if there
is any mistake in the question booklet number or roll number entered or if there is any mistake
in filling corresponding bubbles. Also it may become invalid if there is any discrepancy in the
name of the candidate, name of the examination centre or signature of the candidate vis-a-vis
what is given in the candidate’s admit card. The OMR may also become invalid due to folding
or putting stray marks on it or any damage to it. The consequence of such invalidation due to
incorrect marking or careless handling by the candidate will be sole responsibility of candidate.

8. Candidates are not allowed to carry any written or printed material, calculator, pen, docu-pen,
log table, any communication device like mobile phones etc. inside the examination hall. Any
candidate found with such items will be reported against & his/her candidature will be
summarily cancelled.

9. Rough work must be done on the question paper itself. Additional blank pages are given in the
question paper for rough work.

10. Hand over the OMR to the invigilator before leaving the Examination Hall.

11. This paper contains questions in both English and Bengali. Necessary care and precaution were
taken while framing the Bengali version. However, if any discrepancy(ies) is /are found
between the two versions, the information provided in the English version will stand and will
be treated as final
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1. A force acting on a particle of mass m first grows to a maximum Fy and then decreases to zero. The
force varies with time according to a linear law and the force acts for a total time T. The velocity of
the particle after time T (assume initial velocity of the particle is zero) is

m O GFD P TARN AT 51 A P BN 2N @A A I G 5
W Fo 9 IRl @R ©IFHE BT (71 %0 =7, T WG AR TRe(s_e o »fafse
= G WG T 5 4@ Feiba T 2@ =21 T W i Felibd (@ =1 (M0 e o

ARMET o )
F ET ET E T’
(A) = (B) =2 ©) = (D) =
m m 2m 2m
2. Two identical particles moving at right angles to each other possess de Broglie wavelengths A and

2. . The de Broglie wavelength in their centre of mass frame is

b SR Al ARIEE T TR ST GRS W SR I A € 20

| BT SHFCYR IMMTHF W-JF TG I
A 4\ A
A) — B) A C) — D) —
(A) 3 (B) © NG (D) 5
3. A point source is placed midway between two converging mirrors having equal focal length 10 cm.

The mirrors are separated by a distance L. The value of L for which only one image is formed is

W T (D 10 cm-aF 6 T@e e S SRS @i [ ST el S|
vl wwR iR qRg L Solba gaibuia 2fefiy (of =@ -9 w9 =@

(A) 10 cm (B) 20 cm (C) 40 cm (D) 5cm

Infinite number of conducting rings, each carrying current I in alternative directions as shown in the
figure are placed concentrically in the same plane. The radii of rings are R, 2R, 4R, 8R, .....0. The
magnetic field at the centre of the rings will be

SN RYGF 2RI JOFR {97 W TG O 992 TS g ezl 2ol
R Wy e 2@l [ 2RI Sfoyd g amiEfe) Jeir ARaRe Tpifef
UG R, 2R, 4R, 8R, .....00 TFCY TN HIRICHET S 27,

I

(A) zero  (B) “?I CE ) ;‘—RI
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5. A radioactive source emits both o and B particles with 1600 years and 400 years as respective half —

. . .01 . . .
lives. The time after which 2 th of the material remain undecayed is

(A) 320 years (B) 640 years (C) 1600 years (D) 200 years
G toufEn T (WF o ¢ B el TS = 9B MR PMafers Sy IR 1600 T=F
@ 400 T FS T A TR %ww SRS ARE?

(A) 320 92 (B) 640 92 (C) 1600 J=7 (D) 200 T2

® ®
e e
® ®

A particle of mass m and charge +q enters a region of uniform magnetic field of intensity B pointing
inward into the page with uniform velocity v as shown in figure. For how much time the particle will
stay inside the magnetic field?

g MRS m S +q ST T& «6 Fell “HroR feorme Wi e e B
ARG G I BIFFCHRET N v TN SR A 01| GIeewead Sy it
FoHH M SO FAE?

m(z=6) () =20 ©Z B0
q

(A)
qB qB qB

7. An atomic Nucleus of mass m emits a y -ray photon of frequency v. The net loss in the
internal energy of the parent nucleus is

@36 m SET AR NOFI @F v FNET @6y 3 o oS =71 @3 T
fefFarR @ e SesHfe I ©f =

(A) zero (B) hv (©) hu(1+ ZhU j (D) hu(1+ ho j

mc’ mc’
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Consider a region where electric field E is in the z- direction and magnetic field B points
in the x-direction. A particle of charge q is released from the origin with velocity v = %3 .
The equation of the trajectory of the charged particle is

G B 2-SF R SfOCHA E GR x-SF FITE HIRICHd B Ree q S
< Tl R W v = T A T T G Heoraonsa T 7

Ly (B) y(t)=— (©) y(t)=0 (D) y(t) ==t

W yW=35 B 2B

9. The ratio of dimensions of Planck’s constant h and moment of Inertia (I) has the dimension
of
(A) velocity (B) angular momentum (C) time (D) frequency
WE &7 (h) GR TOO! ANFF (1) MR SPHACSD W@l 7w i ARF @ W= 2
(A) @@ (B) @IS @a@e (C) T (D) F=I=
10. Two resistors A and B having resistances R; and R, respectively at 0°C and temperature coefficients

oy and oy are joined in series. If this combination gives the same resistance at all temperatures, then
(A) Aisametal, B is a semiconductor
(B) Both A and B are metals
(C) Both A and B are semi conductors

(D) Not enough information is given for conclusion

0°C SPINIEE A @R B 92 (@IS @4 Ry @ Ry @< SPI@N @41F a18 o | A &R B
A TR RIS A @3 IRF| A SFER GFE [ AW I, O

(A) A a3 419, B @3 a2
(B) A 43 B TeaR 49|

(C) A @32 B Teng wffFaiR)
(D) PaIed o= AT O s =3l
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11.

A spherical ball of radius R and density preleased in a liquid of density% , attains a terminal

velocity v. Then another ball of radius 2R and density 1.5 p, released in the same liquid will attain a
terminal velocity

G R IPNE 8 p I (IR %WW@WWC‘?ﬂmvm@?I@ﬁ

G FE W GG 2R IPAET 8 1.5p TG CIERE @ GF2 O+ W CerS FAE
SR AR @ T3

(A) v (B) 2v (©) 3v (D) 8v
12. One measures the specific resistance of a wire of circular cross-section by measuring length ( /),
diameter (d) and resistance (R). The recorded data are: R =100+ 0.01Q2, d=0.50£0.01 mm and
£=100£0.01 cm . The maximum percentage of error in the measurement of its specific resistance
will be
G ISR AFRME AN O @HE el T & O (U (¢), TP (d) e @i
(R) fefa =11 == AAFETE IS T R =100+ 0.01Q,d=0.50£0.01 mm €3
£=100£0.01 cm. 92 A WHF el D o goa M
(A) 4.02% (B) 2.02% (©) 1.01% (D) 0.06%
13 2.2 2,2
Equation of a travelling wave is given by y(x,t)=A exp[— 2abxt + bzt rax } , Where A, a, b, ¢
c
are all positive constants of proper dimensions. The speed of the wave is
2abxt + b’*t* +a’x’?
GG beTSAER AR 2 y(x,t)= A exp| - . , T A, a, b, ¢ Al
c
T TAE HIE G&F | T O ol
b 2b cb b
(A) — (B) — © — D) —
a a a 2a
14. 1 mole of O, and 1 mole of He are present in a mixture. The heat required to raise its temperature

from 0°C to 100° C at constant volume is (universal gas constant R = 8.31 Joules / mole k)

@3 O 1 F 0, 93 1 (3 He Wizl Weabd Siow@l @ SimeE 0°C *EF 100°C
FAO ARG SR AR (TS 577 &I R =8.31 Joules /mole k)

(A) 3.324x10°J (B) 2.50x 10°J (C) 3.00x 10°J (D) 6.648 x 10°J
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15.

A charge q is placed at a distance % above the centre of a horizontal, square plate of side ‘a’. The

flux of electric field through the square face will be

6 ST q (F Sl O A G 2 IR R oo vy @ %@Wm
A ZeT PICwE Wy e ofe] F 2

() =+ (B) - © -1 (D) 0
=h 2¢, 6e,
16. A ball of mass m, moving with a velocity v collides elastically with a wall of mass M moving with
velocity 2v towards the ball. Considering M — oo , the work done during this collision is
v @1 e m OEF @36 I O RfeMee 2v SSEe! bemia M S@EE @3
M MR FOFHT T BRI M >0 e G2 TRGE FoIH Al
(A) 12mv? (B) 4mv* (C) Infinite (D) mv?
17. R
A% ————A——
C
v HE—IE
—>
ov 4 AAAA
3R

In the given circuit with steady state current (I), the potential drop across the capacitor must be

fora 2ve I8N W A RISt 2[R (1) TF 4RGSR AoaEd W [e] 2rem 7=

v \% v
(4) 3 (B) v © 3 (D) 7
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18.

2kg

A mass of 2 kg is fixed between two springs, each of spring constant k = 200 N / m as shown in the
diagram. Initially the springs are un-stretched. If the mass is released and the springs are allowed to
expand or contract under the influence of the mass, what would be the acceleration of the mass at its
lowest position? Take g =10 m / s?

T foea Tl 2 kg O O @2 2 79 k-7 b Foi-aa ARG =1 =)
ik 76 ARFReIE wfTe SwER A4 ' 93 SRR o @e Mo [ e w&iw
SRR 99 2 k=200N/m,g=10m/s>

(A) 5 m/sec?upwards (@%/E?ID (B) 10 m/sec’* upwards (W)

(C) 5 m/sec*downwards (ﬁﬂﬂfﬁ) (D) 100 m/sec? upwards (@"ﬁ@)

19. Each of 1000 small spherical water drops of radius ‘r’ carry a charge ‘q’. If these are combined to
form a large spherical drop, then the ratio of —, where @, is the electrostatic potential of each
(
small drop and @, is that of the large drop, is
ST v AP 1000 B IR Tty aFfes 2@ @3l J7e7 worfy oifvs =z =S
)
TR T (IPROd W g 8 [T ¢ . FNETS Teiyivy ©foe Keq @, 23 >
l
G@‘?ﬂ_ﬁa\s J W
1 1
A) — B) — C) 100 D) 1000
()1000 ()100 © (D)
20. Two identical small mercury spheres, each of radius ‘r’, are fused to make a bigger sphere. The ratio
of the total surface energy of the two smaller spheres to that of the bigger sphere will be
A5+ IPIET 926 Ao i [t B @9 T e (oF I 9 F1
CIeTs afeTe e ¢ T iEehe spefe St
(A)I:Z% (B) 2%:1 (©) 2:1 (D) 1:2
21. Two coherent sources of intensities 9 watt/m? and 4 watt/m* produce interference fringes. The ratio

of maximum to minimum intensity of the fringe system is

9 watt/m? € 4 watt/m> OISR @% TS W OP @kl s fen #iba A @
T SOR WATS

(A) 4:9 (B) 9:4 (C) 25:1 (D) 5:1

QP-PUBDET-2018Physics FINAL.docx Page: 8/18




22.

A brass sphere of 10 cms radius is electrified to a potential of 80 units. It is then connected by a wire
to another uncharged brass sphere when its potential drops to 20 units. What is the radius of the
second sphere?

10 cm PR G5 RS ot Cilera (@pfes Red 80 a9 @i O AR 93
Gl SF G IR Prom P iRe I FaE 289 Giesbe @fss
k7 20 933 =@ AR @SR CiED TPIE Fo?

(A) 30 cms (B) 35cms (C) 40 cms (D) 45 cms

23.

A glass slab of refractive index 1.5 is immersed in a liquid of refractive index 1.35. What is the
polarizing angle for a light ray entering the glass slab from the liquid?

1.5 AfSTRIEa @I ImA 1T 1.35 A SR G SR W Wafees w5 0o
FBA AT AR A ST TRSER (el (§7e el) & =32

(A) tan0.99 (B) tan'1.11 (C) tan'1.32 (D) tan'1.41

24.

A monatomic ideal gas expands at constant pressure after addition of an amount of heat Q. The
fraction of heat goes into work done by the gas is

G GFHGE S ST Q Hfel Ot (reAR 2 oG N bl PR 76| ove
TP @ WL A FIF FOINE TS 2, O =

2 2 3
(A3 B) 3 © 5 (D) 1

25.

2Py

P B

Vo 2Ve "

n mole ideal gas undergoes a process A — B as shown in the P-V diagram. At what volume the
temperature of the gas will be maximum?

3 . .
(A)V, (B) EVO (C) 2V, (D) There is no maximum value of temperature.

‘n’ TS 2R @6 @ SIPTE p-v BaRpi A — B @i afee W e e e
5| SR (I W R SREl T 2 1e

(A) V, (B) >V, (C) 2V, (D) @4 OPNIER (@ A% T 3
2
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26. The magnetic flux linking a conducting ring varies with time as ¢(t)=4t" —12t> Tm’. The
resistance of the ring is 2Q2. Maximum current induced in the ring during time interval 0 to 2 sec is
G35 AR FoI MeS GiTS HEF 2[R TR MF ¢(1)=4t' ~12¢ Tm’ @ *R(ES
1 AT @Y 20 A 0 10 2 OIFS T IR FHACS NRE SO
A% W 7
(A) 2 Amp B) 1Amp (C) 8 Amp (D) 6Amp
27. An electron in a hydrogen atom makes a transition from ground state to first excited state. The
magnetic dipole moment due to the circulating electron will
(A) increase by two times (B) decrease by two times
(C) decrease four times (D) remain same
QLI AT G0 g WO W (ground state) (AT ALW THO T (first excited
state) 9 BAERES TE TRNA EIER GRS REE AT
(A) 229 J@ AT (B)2 @ I A
(C) 489 I @ (D) 9928 TR
28. A car is moving from rest with a constant acceleration f; for some time, then the car retards with a
constant retardation f, for some time and finally comes to rest. What is the average acceleration of
the car during its entire journey?
G SIS FERITE (AT £ TG Fgwel (90, PR £ T [T FeTR A7
FaREE @at i FamE St e g Fo?
2 2 2 2
A) f.f, (B) f, +f1, ©) " -1, (D) f," +f1,
f, +1, 2 f f, f f,
29. Two point sources of sound are separated by a distance 1.50 m and they emit sound waves in phase

at wave lengthA=0.6m . If a sound detector is moved along a circle centered at the midpoint
between sources, the number of points on the circle where two waves arrive in phase is

vi5 9 T 1.50 m O[S SRS @I TL;AEH TR .= 0.6m SR g7l |
G *17 AT TFE G M TR TRAS Y P G0 JERI N @ Je
T Foef RYee *Rromre TmeE [k 2=?

(A) 10 (B)8 (C)6 (D) 14
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30. The P-V diagram of an ideal gas undergoing a reversible cyclic process is an ellipse as shown in the
figure. In this process
p
3Po/2
Po/2
Vo2 Vo2 Y
PV,
(A) The work done per cycle is 7P, V, (B) The work done per cycleis 2
. . 27 . . 2n
(C) The efficiency is n= (D) The efficiency is n=
n+5 n+8
@ =t MoR T @I A AoRST TSR P-V 2 v Tl @3
A
Z < £ £ P V
(A) &S 7 S FoFR 7PV, (B) AfS Y WS FOIE %
P 2n P 2n
(C) _MFH9l n= (D) MHO] =
T+5 m+8
31. A particle is projected at time t=0 from a point on the ground with certain velocity at an angle with

the horizontal. The work done W by the gravitational force plotted against time t is best represented
by the curve

=0 T G FCE o T @I [HE i @l g siferest ol zen swem
A Sfosde & @k o T Foo W a9 AfRaS Fpe @Hbe Sl

W W W
™ (®) © (0) ’;
t t % t t
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32.

Two ideal monatomic gases at absolute temperatures T and T, are mixed. No energy is lost during
the process of mixing. If the masses of the molecules are m; and m, and the number of molecules in
the gases are p; and iz respectively, then final temperature of the mixture will be

T8 T,* SFN@E A 96 7= G Rl =11 Do @8 e dfewm @w =fE
Y Q@A AW P qhT WeE ©F TAGE my € my R T TR IAEE '€y
Se R Sl %9

wT+p, T T+T, wT+p,T,
A ———————=— B) JTT C D)——==
() BT ® L © ) Bt

33.

A massless string can carry a maximum mass 6 kg. What maximum mass can this string raise up to a
height 10 m in 2 seconds with a constant acceleration? [g =10m/ 82]

G SR IS MW 6 kg O IF T2 FAS A M TG 2 PLICS Ao
TS G TEE 10m THOF S AR
(A) 12 kg (B) 6 kg (C) 3kg (D) 4 kg

34.

The mass density of a linear rod of length L varies as p(X)= Po e L, where ‘x’ is the distance from

the left end of the rod and P, is a constant. Centre of mass of the rod lies at a distance

L ) 2
(A) 5 from left end (B) Py L l_g from left end

L
© 1 from right end (D) L(l _Llj from right end
e— e—

L dRRE o FReiaRe WEd GAY p(x)=p,c - ROTE ARRRES T @RI

27 Mefha AN @ FEeed AR ¢ P 2 @I 71 Mol SHEeTd SREN
ST

(.2
(A) IS &F % L&) (B) IR T pOL(l‘gj R

(C) THE ’F i TG (D) TR &F L(l— ! jm

e—
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35. The density of sea water at the sea surface is po and the bulk modulus of the water is B. What will be
the density of water at a depth ‘d’ in the sea? g denotes the acceleration due to gravity. Assume
B>dp,g
IS RS TG Lo R A8 SER e [P @diF B, M@ ST €T d
TOOR TR TEH TG FO? g 26 WOFAN G| G A8 B>dp,g

(A) py(1+Bp,gd)  (B) py(1+B pygd) (©) py(1-B7pgd) (D) pygd

36. An electric field in x-y plane is given by E:yi+ x} .The equipotential surface corresponding to the

electric field is
(A) Parabola (B) Straight line (C) Hyperbola (D) Ellipse

x-y TAOH G35 SfGRTHFET ARG E=yi+x]. 92 OfCCHADT TNIS] O6 T
(A) SEge (B) =& (4l (C) *HIge (D) ©7ge

37. . . 1 . . .

A convex mirror of focal length ‘f” produces a real image —- of the size of the object. The distance
n

of the object from the mirror is

f TOIPT O @9 Tes Wil @9 T IR - ST 2SR oW e weld
n

F T Q26T

(A) f B)(-1)f (C©)(n+]) (D) nf
n

38. Two sound waves of wavelengths A, andA, (A, > A,) produce n beats per second. The speed of
sound is
%, 8, ST G = T 2ifS PIFCT n TRYT FaF™ (O I 47 AS 4, >4, |
CICwea *Ias SIS =3

Ay — A AA
A) =——1n B) (A, —X))n C) ——-n D) n(A, +A
()Mb2 (B) (h, —1) ()7»2—% (D) n(k; +4,)
39. Two wires are of the same material. Their lengths are in the ratio 1:2 and their diameters are in the

ratio 2:1. If they are pulled by the same force, their increase in length will be in the ratio

TR LR (O 4 O (M @ OW AT I 1:2°8 2:11 qod T 998 @
AR T, O () e SIS 77

(A) 1:1 (B) 1:2 (C) 1:4 (D) 1:8
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40. Suppose a body at an absolute temperature 3T is placed in surroundings of absolute temperature T.
The time required for its temperature to decrease by T is proportional to
(A) In (I/3) (B) 2T ©) T (D) In (2)
WA 9 3T AW Tape] [FEE @36 gee T ok G| [{FE Aol s ae ==
G OFE@l T ARSI D F AR AN
(A) In (1/3) @ TWARSF  (B) 2T-4F TWAITSST
(C) UT-a9 AT (D) In (2) -45 AAAOF
41. Suppose a straight wire is hanging from a ceiling. The wire is pulled in such a way that its length
becomes 1; and its tension becomes T, On further pulling , the length becomes 1, and corresponding
tension becomes T» The original length of the wire is
T T4 430 4G O B AF JR| ORME GO SRl =6 @ SRb ol [0
= G 98 BN T =GR SRIGCE SCAl O BINI (el O ¢ L @ B T2 &=
ol 4TS (i =
L +1, -T], T, -Tl,
A) 11 B D) 2!
(A) YL (B) —* ()TT ()TT
42. The acceleration of an electron at an instant in a magnetic field B= i+ y}+ 13k is d= 2i+3j— 2k.

The value of y is

B=i+y ]+ 13k D0 (9 9F TS (6 SEFER 9 d=2i+3j-2k A y 99 AW
6

(A) V7 (B) 24 ©§ (D) 8
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43.

A particle of mass ‘m’ moves along the x-axis under a potential v(x)=a+bx+cx? , where a, b, ¢ are all
positive constants. Its motion will be

(A) simple harmonic with period 27, /22
c

ma

(B) simple harmonic with period 2 ETel

(C) One of constant velocity

(D) One of constant acceleration

'm’ O G0 Tl v(x)=at+bx+ex? RO 2Ol x-S0 47 bfeicorzl 279 sifeq 43fs

(A) 2n\/gﬂffwﬁﬁ§wmw%

(B) 2t %Wﬁﬁ@wmﬁ%

(C) SR S
(D) NG IS

44.

10% photons of wavelength 660 nm are being emitted every second by an electric bulb. What is its
power?

B oS A AT AfS TR 660 nm STACTCIR 102 (@6 fFivfe 2zl AfSHa
TAG| TS ?

(A) 30W (B) 60W (C) 100W (D) 500W
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45.

A closed cubical tank is completely filled with liquid and is accelerated horizontally with an
acceleration @ =2 m/s’ towards right. The pressure at any point inside liquid is a function of depth
h and distance / from the front wall. Variation of pressure with / is shown in the figure.

P(N)

A
h

<«—L—>

The density of the liquid is
(A) 1kg/m? (B) 0.5 kg/m®

(©) 0.1 kg/m? (D) sufficient information is not given

g6 TIPS OiiF (tank) Fifeim Ol M@ ©fS @3 BRI SR TR
d=2m/s’ TGN GAGS Tl T O W @ (I [ 517, IO h @ AN
MeTE ((F TG [ 99 SRS [ G AZS B P @7 ARKS 5ra (R ARl O (0
qTQ =26

(A) 1 kg/m® (B) 0.5 kg/m®

(C) 0.1 kg/m? (D) TEET T AT O ST +

46.

A ray of light passes from a medium of refractive index i to a medium of refractive index pz (12>
w1). If the angle of incidence is twice the angle of refraction, then the angle of incidence is

T I G0 AR, ARNET @6 TOT @WF p, ASRIET S GFh TR
el @R, >, | W SNes (@l 2forme @FieR fagd 23 SiE Sivied @eR W
E6

(A) 2cos"1(ﬁJ (B) cos"l(ﬁj (C) 2cos'1(iJ (D) cos"l(Lj
2y, 2y, 2p,
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47. In which of the following systems will the wavelengths of the photon emitted in the transition of an
electron from n=2 to n=1 state be a minimum?
(A) hydrogen atom (B) deuterium atom
(C) single ionized helium (D) doubly ionized lithium
e @ TR n=2 [F n=1 SRBEE o @HEa saomd Jaos 212
(A) RAGE MY (B) fETERam = q
(C) a3 SIS fBfer™ #wwiy (D) [AR WS BREm 2w
48. The velocity of sound in a gas of diatomic molecules is v and the rms velocity of gas molecules is c.
Then ~ is
c
G35 favimmie /e shick foom = fee@et v. 93 oR SHefm & e i .
Ul R o
c
15 7 3 7
A) |— B) ,[— O) .= D) .|—
wE o of  of
49, A planet is at a distance d from the sun and its average temperature is T. Suppose the planet receives
energy only from the sun and loses energy from its surface by the process of radiation. If we ignore
all atmospheric effects then
T W 93 AT Y 48 A=A Y Ol TI W F9 a2 @eia B @ e
a1zel TR 97 R MW O spee [T G o Fa@l I R IR ek
Dy IR SR
1 1
(A) Tox— (B) Tx—  (C) Tx~/d (D) T«xd
d Jd
50. A driver in his car notices a change in frequency of his horn from 550 Hz to 770 Hz when moving

towards a vertical wall. The frequency changes due to reflection from the wall. The speed of the car
is (velocity of sound in air is 330 m/s)

GG TE¥ (MSTETT SO TP RS 7 SNfTa bR o1 I (ST <A
AfSTeTera T oIS KfT F™F 550 Hz (WF 770 Hz @ ARRES 271 oifoq sifoce za1
(IO == @9 330 m/s)

(A) 65m/s (B)14.7m/s (C) 55m/s (D) 110 m/s
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